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SIDCOT SCHOOL - Gender Pay Gap

Female Male Gender

pay gap
Mean £ per hr 17.50  16.68 6.7%
Median £ per hr 1485 15.45 4 0%
Top guartile b6% 34%
2nd guartile 51% 49%
Jrd quartile 69% 1%
4th quartile b3% 37%
Total 62% 38%

What do Sidcot’s results show?

The mean gender pay gap at Sidcot is 6.7%. This compares favourably
to the national average of 18.1%

Whilst it is positive that there is a higher than average % of females in
the top pay quartile, this is offset by a lower than average % in the 2"
guartile.



The gender pay gap and how workplaces
contribute to it

The gender pay gap shows the difference between the average (mean or
median) earnings of men and women. This is expressed as a percentage
of men’s earnings e.g. women earn 15% less than men. Used to its full
potential, gender pay gap reporting is a valuable tool for assessing levels
of equality in the workplace, female and male participation, and how
effectively talent is being maximised.

The difference between the gender pay gap and
equal pay
The gender pay gap differs from equal pay.

Equal pay deals with the pay differences between men and women who
carry out the same jobs, similar jobs or work of equal value. It is
unlawful to pay people unequally because they are a man or a woman.

The gender pay gap shows the differences in the average pay between
men and women. If a workplace has a particularly high gender pay gap,
this can indicate there may a number of issues to deal with, and the
individual calculations may help to identify what those issues are. In some

cases, the gender pay gap may include unlawful inequality in pay but this
is not necessarily the case.

These calculations make use of two types of averages:

¢ A mean average involves adding up all of the numbers and dividing
the result by how many numbers were in the list.

¢ A median average involves listing all of the numbers in numerical
order. If there is an odd number of results, the median average is the
middle number. If there is an even number of results, the median will
be the mean of the two central numbers.

Using these two different types of average is helpful to give a more
balanced overview of an employer’s overall gender pay gap:

e Mean averages are useful because they place the same value on every
number they use, giving a good overall indication of the gender pay
gap, but very large or small pay rates or bonuses can ‘dominate’ and
distort the answer. For example, mean averages can be useful where
most employees in an organisation receive a bonus but could less
useful in an organisation where the vast majority of bonus pay is
received by a small number of board members.



Median averages are useful to indicate what the ‘typical’ situation is

i.e. in the middle of an organisation and are not distorted by very large
or small pay rates or bonuses. However, this means that not all gender
pay gap issues will be picked up. For example, a median average might
show a better indication of the ‘middle of the road’ pay gap in a sports
club with a mean average distorted by very highly paid players and
board members, but it could also fail to pick up as effectively where
the pay gap issues are most pronounced in the lowest paid or highest
paid employees.

A positive percentage figure (which almost all organisations are likely
to have) reveals that typically or overall, female employees have lower
pay or bonuses than male employees.

A negative percentage figure (which some organsiations may have)
reveals that typically or overall, male employees have lower pay or
bonuses than female employees.

A zero percentage figure (which is highly unlikely, but could exist for a
median pay gap where a lot of employees are concentrated in the
same pay grade) would reveal no gap between the pay or bonuses of
typical male and female employees or completely equal pay or bonuses
overall.



